Sports

Event |Organized by |Award |Name of Winner
PEiE S

2018-10 B ElbEE e | HEAELER R4 X100k () - wE | 4t
FEFE 4 X 100K (FF4H) - i | &=t
FHFE 4 X 100K B2 (FH4E) - =RE | 4Tt
100>K(FH4H) - THiE A E 5C
100K (FH4H) - BiEE BRE 4B
100K (FHEH) - FHE Pk 6C
200>K(HH4H) - R HmE 5C
200>K(HH4H) - 50 FERE 4B
200:K(FR4H) - FHE FEE  SA
400>k (FH4H) - o EE EHE SA
400K (FH4H) - BHE 2 LE 1 5C
400K (FH&H) - FHE ERE 5C
800K (HH4H) - ifHE = iR 5D
800K (FH4H) - oHE ZIEf  5C
800K (FA4H) - FHE BiEM  5C
PoE(H4H) - T L 6D
Pk (FH4H) - o kg 6C
PoE(HLE) - FHE SIET 5C
Phs (FH4H) - i (ma=LiC 5C
P (FH4H) - o EH 6D
PhE (4R - FH TREY 6C
HESLER(FR4H) - e AEEIM 5B
HESLER(FH4H) - oHE TEM 6D
HESLER(FH4H) - FHE Bta 6B
FHE 4 X 100K 1(Z4H) - i | #LFt
(R 4 X 100KBE (2 8H) - oidE | ARt
4 X 100KkBE (240 - =58 | Bt
100K (Z4H) - THiE REH 3A
1002K(Z4H) - aiE TIEE 3C
1002K(Z4H) - FH =BT 3D
2002 (Z4H) - et =152 4C
2002K(Z4H) - GHE FFAKE 4A
2000Kk(Z4H) - FH RIERL 3D
400>k (Z4H) - i REH 3A
4002K(Z4H) - BiE FFRKE 4A
400K (Z8H) - FE SRt 3D
800K (Z4H) - FHHER 3D




800K (Z4H) - BEEE BIRYE  3A
800K (Z4H) - ZREH. 151 3A
PhiE(L40) - i FFEKE 4A
PhiE(L4H) - oo A 2B
PhiE(L40) - FH PR 3A
PhE(Z40) - T SI=85 4A
Phs(L4H) - B 55= 4A
P24 - FE ZIEI2 4C
FESBR(Z4H) - et F4alE 3A
HESSER(Z4H) - BiE PR 3A
HERSER(Z4H) - RE =52 F 4C
(PR 4 X 100k (P54E) - HE | #RfL

TEBE 4 X 100Kk BEJ3(PI4H) - GiEE | AT

B 4 X 100k (HA) - FE | =41

100>K(F4H) - THE Rl 1C
100>K(P4H) - 50 2mI% 2C
100K (P54H) - = PR =) 1A
200>K(FH4H) - THEEE Rl 1C
200>K(F4H) - 50 PULER 2C
200:K(P4H) - EHE BIE®W 2D
400K (PH4H) - i EE ERZ 2D
A00K(PI4H) - B Réc 2D
400K:(PS4E) - BE =R 1A
800K (PN4H) - HEE T F54 1D
800K (PS4H) - oiHE [ 40 A 2D
800K (P94H) - = MEF 2C
PRiE(PN4H) - eiE 2L 2C
PRiE(PN4H) - EoE BREZERLy  2A
PRiE(PN4H) - Z=E Rl 1C
Pk (PN4H) - eiE BREZERL  2A
Pk (PN4H) - B0 KIEE 2C
Pk (PN4H) - Z=E RERT 2C
HESER (P94 - HEE BRI 1B
HESER(PI4H) - oiE AL BiE= 2B
HESBR(PN4H) - BE =AY 1C
15000K (22 Bi4H)- wf e =R 5D
15003 (2 Bi4H)- saE EI5%  5C
15003k (A Bi4H)- ZH REE  5C
ERSREHF (N FH4H)- BEUE SA




BB (A B4 - B9 EEME 6D
B AR B4 BE BRtE 6B
th— 4R B - 1C
th— 4R B - R 1A
h— 4R B T 1B
th AR B - 2A
th AREER B - B 2C
h AR BN B 2D
th = AR B - 3A
th = 4R B - R 3D
h = AR EE - B 3C
b PUSR TR B - 4A
b USRS B - BE 4D
h USRI B B B 4C
h H AR B - 5C
th F AR B - R 5B
h A B T SA
h AR B - 6B
th AR B - R 6C
AN VI e 6D




